= AH O
N = 0 & AF & E Al A
2000 &= =20l A LB A
2A: 23HED
. 23iessd 4 s
C?: LU3ALY 25sA XA (&2 &)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
23t s 2,675,857 3,406,534 NT730,677
= 5,000
Dl 107,268
= 28,851
< 224,160
Al 2,310,578
2llsssd & s 913,004 796,692 116,312
= 5,000
2 28,851
< 31,500
Al 847,653
PUHEHLY 2otsAL X2 337,320 330,540 6,780
Zotil=2d sS2Y 7,320 10,540 N3,220
201 B2 HH| 4,820 5,000 A 180
01 Al 22ld] 1,820 2,000 A 180
OXNEAJ &G 70,0002 x6 X 23| 840
OllasdAldo Az &MY
70,0002 x7H %23 980
03 AI2HH| 3,000 3,000 0
O2sit=a8Am E2 & K& S
3,000,000 3,000
202 0OfHl 2,000 2,000 0
01 2ol 2,000 2,000 0
O3S0 =stAl =8 L NE48 S
2,000,000 2,000
301 et A2 500 1,000 A500
10 SAIAMHIEAZ 500 1,000 2500
O23tol=2ta 212t0 =X« 500,000& 500
HEWEE20| 2s=H N 24,000 20,000 4,000
307 gQI2tol A 24,000 20,000 4,000
04 QIZHHAIE X 24,000 20,000 4,000
O2l&=0| DIEsM(s XY)
1,000,000 *8 = 8,000
O2E=01 AMI2IESHM(F2SAN)
16,000,000 16,000
20,000 20,000 0

— O
(i
alo
2
tou
=
el
pal
o




2A: SSHEL
D 2olHssY L IS
ol 2RO 2SBA X (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
307 QIZ2+tol A 20,000 20,000 0
04 OIZ2tSHAIE X 20,000 20,000 0
02009 sEHS<3 Nz X 20,000,000 20,000
e300z X 2 HEXH 26,000 40,000 A 14,000
307 QI2t0IA 26,000 40,000 A 14,000
04 BIZ2HSHAIE X 26,000 40,000 A 14,000
O=d)I2XNd & 233 HzXA
26,000,000& 26,000
A8 HE=EM ONEXA 110,000 90,000 20,000
307 QIZtolA 110,000 90,000 20,000
04 OIZ2tSHAIE X 110,000 90,000 20,000
O HM248 AQHHEFH 110,000, 000& 110,000
SEEH 2 HAEIY WX 100,000 150,000 50,000
307 2I2tolA 100,000 150,000 50,000
04 OQIZtSHAIE X 100,000 150,000 A 50,000
OM1g S&& & HAEY MWEXA
100,000, 000& 100,000
sSuUsS2d0=M JHEX 3 30,000 0 30,000
307 QIZtolA 30,000 0 30,000
04 OI2tSHAIE X 30,000 0 30,000
OHM53 AtdsSo=H Nzl X
30,000,000 30,000
SASE AESH HEXA 10,000 0 10,000
307 QIZ2+tol A 10,000 0 10,000
04 OIZ2tSHAIE X 10,000 0 10,000
02009 S AE3AH Ha XA
10,000, 000& 10,000
S OAR0U A8 2 10,000 0 10,000
401 Al&HIL=HYI 10,000 0 10,000
01 Al&H| 10,000 0 10,000
O=L33 OIARU THAIE &5
10,000,000 10,000
NEE25us &R 359,760 304,370 55,390
= 5,000
= 28,851
= 31,500




X= ot

L2 M

2AM: 29
)
Zotl=sd

X{ ZH -
S =

o
A
0lol

&2l XE25H0= ;gm% (ctel &
SNBSS - MEAY - BES 0l &k o4 B bz 2
01l & o
NE=2stos s4X3 Al 294,409
ANEEgEH" 22 & TA 129,180 119,090 10,090
201 ZEH2EH| 1,000 1,840 A B840
01 AtE2teltl 1,000 1,840 AB840
OANEl=ctEdEAZ A=
100, 000& «5H x23] 1,000
301 YBtEaE 128,180 117,250 10,930
11tz - 2SFEELS 128,180 117,250 10,930
Ogags Eo= 106,320
- XXt 1,000,000 x1E+ 123 12,000
- OO0t Bt==Xt 600,000& 1 x12& 7,200
-JleEggEE 400,000 x 1+ 122 4,800
- S§EH (MBI 200,000 *10H *12& 24,000
- S (HIE S
180,000& *27H 123 58,320
ot= 2g ¢ =4 300,000 *10G x13] 3,000
O&JIH=3 &Hl 6,000,000& *13] 6,000
OFJI¢=3 B&3 8,860
- XIS & 1,000,000& *1H *13] 1,000
- OIot: Bt=Xt 600,000& 18 13| 600
- JIEg2EH 400,000& *1H *13] 400
- EEHA(MBA) 200,000& 10 x 13l 2,000
- EEHE(HAESA) 180,000& *27H *13] 4,860
OXO0It= H=3 bl 2,000,000& *23| 4,000
AMEOIgE=2E 29 & XN& 73,580 61,280 12,300
301 YotEaz 73,580 61,280 12,300
11ttt - 2SFSELS 73,580 61,280 12,300
Ogags Eo= 49,920
- 252 1,000,000 x1E+ 123 12,000
- YOI 600,000& 1 x 12 7,200
- EM(2H) 400,000 x 1+ 122 4,800
- SsHE 180,000& * 12 123 25,920




22
J2

300,000& *15H x12] 4,500

O&JIEsH &l 6,000,000& 12| 6,000

OFIIZH Eo= 4,160

- BS54 1,000,000 1 x13] 1,000

- =YWOolA 600, 000& »1H *13] 600

- EM(2H) 400,000& *1H *13] 400

- SSHE 180,000& *12H *13] 2,160

o7 5,000,000& 5,000

OO0t 2=3E 3l 2,000,000& *23| 4,000

dE Bl EEMY 12,000

= 6,000

Al 6,000

307 gl2tol& 12,000

& 6,000

Al 6,000

e s P e 12,000
OSAHE UABEAY (0125

12,000, 000& 12,000

= 6,000

Al 6,000

S AP XA 30,000

= 15,000

Al 15,000

307 QIZt0IA 30,000

& 15,000

Al 15,000

03 AMSHHEXZ 30,000
OSHMLHENY (HZSHHXR)

30,000, 000& 30,000

= 15,000

Al 15,000

T OLOFEOl 3 EIIX & 6,000

= 3,000

Al 3,000

307 QIZ2t0IA 6,000

20
B
2




A= 2t
il==d
PN -1 S

o
A
0lol

J0
0x
P
{0

SNBSS - MEAY - BES

22
J2

20
B
2

307 2I2H0IH < 3,000
Al 3,000
03 AEIEMEZES 6,000 6,000
OM193] ZJIE OIDIEO0f A= H RAIIK
6,000,000 6,000
= 3,000
Al 3,000
ZIISOIL0SH &K S 10,000 0
= 5,000
Al 5,000
307 212+0IH 10,000 0
= 5,000
Al 5,000
03 AEIEMEZES 10,000 0
OM178) IS SILMEH FIIK S
10,000,000% 10,000
= 5,000
Al 5,000
Ng2ste s 75,000 60,000
= 25,000
Al 50,000
307 212+0IH 75,000 60,000
= 25,000
Al 50,000
02 SlRIFABE 15,000 0
OXNg2sa 24| X 15,000, 0002 15,000
03 AEIEHEZES 60,000 60,000
ONY 232 AASS (ZOILAR)
60,000,000% 60,000
= 25,000
Al 35,000
Sstetn 29 6,000 6,000
2 3,851
Al 2,149
307 212+0I 6,000 6,000
= 3,851




SN 23
=
.

X{ ZH -
S =

Col Sal0E SAK (B9l ®2)
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
307 212+0I Al 2,149
03 ASIBtMZES 6,000 6,000 0
OS58tD 2 (ZOIYAR) 6,000,00084 6,000
= 3,851
Al 2,149
TAYE DB EH X2 8,000 0 8,000
402 BIEXHEO0IH 8,000 0 8,000
NEEBEEES 8,000 0 8,000
0T ST Yl XA 14
8,000,000 8,000
ANEI 230l S DS AL 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
307 BI2tolA 10,000 0 10,000
= 5,000
= 2,500
Al 2,500
CINEEEEES] 10,000 0 10,000
OS5 %NS DSALXE 10,000, 0002 10,000
= 5,000
< 2,500
Al 2,500
AQle uigp 2Y 207,774 155,832 51,942
S 2% 126,974 121,752 5,222
101 Q124 5,344 3,912 1,432
10 JRAN2ENSE 4 5,344 3,912 1,432
OHEMERY L 2AFY| o=
33,4009 22 x302! 2,004
OOIITAIE BEHH Q2
33,4002 x22 x302 2,004
OHEZ +2 FAUXY 33,4002 +22 x20L 1,33
201 Y2yl 98,530 92,940 5,590
01 A2/t 26,470 21,470 5,000
OH2Z 2% ARl 13,070,0002 13,070
O 0= ¥ X5t 7Y 800,000% 800




SN 2T
Hy: 250554 2 IS
ol jAQE B2R 29 (Er9): &2
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES 0f Ao Sl ko HRE2
SEEENEEER S B
3,000,000& 3,000
el XY SHIHF A 1,200,000& 1,200
ONEAFMAIAB ST 22| LT H =
1,000,000& 1,000
OJIEHEAS &5 g2t 5,000,000& 5,000
O+ 500, 000& 500
OxZeE 7 1,900,002 1,900
02 B2=524 68,060 67,470 590
OSER3 200,0002 200
OXtg = Aldl 5,000,000& 5,000
Ot 2| (L 1,310,002 1,310
OrspiN=1 30,000,000& 30,000
OFIIAHUSYI| S |22
11,500,000 11,500
O S2LALOM ol 550,000& 550
O&AlS =X 22| 8,500,000& 8,500
OASLAIEZHIRIH| 11,000,002 11,000
03 EAI2ZHI 4,000 4,000 0
OS2 2,000,0002! 2,000
OJI&l ™ izl 2,000,000& 2,000
202 Od4Hl 1,500 1,500 0
01 =LHAHI 1,500 1,500 0
OfixIot2 ¥ RSZA 1,500,000& 1,500
301 LetEd= 21,600 22,400 A800
12 JIEt2 43 21,600 22,400 A800
ORSIVABAR 22 30,0002 *42 +1802 21,600
SeD ALEs 80,800 34,080 46,720
206 TH=Hl 7,400 5,400 2,000
01 M=z 4l 7,400 5,400 2,000
OXdE 43 ¢ g 72¢ 2,500, 000& 2,500
OFAY U OFABAIZ Z 29
2,500,000& 2,500
OLCD =2 MY #HERY 600, 000& =44 2,400




SN 28HSD
o 230E84 Y WS
o9 LHAQlE U2 2Y Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
401 AlZHIL2 O] 50,000 24,500 25,500
01 AlZH] 50,000 24,500 25,500
OS2 OFAFAIE Bt HE24
3,000,000% 3,000
O 25 MAIML CI22t0 24
10,000, 000! 10,000
OS2 15 SBEIY DA 15,000, 00024 15,000
O2t22 AT @+ WZA SA
22,000,0002 22,000
405 TrarFE S| 23,400 4,180 19,220
01 RMUSEFSY] 23,400 4,180 19,220
O JFFAIS Lejel DEIE P
18,000, 00021 *14] 18,000
Owed BAMI| AEE DA 7Y
1,000,000 *1CH 1,000
OUSW 15 BYAS FEI| 29
3,000,000% *1CH 3,000
Ost2@ WEA K02 i 2
700, 00021 #1CH 700
osten 247 i 2 350,0002 2L} 700
AFE HYMY FHT 8,150 5,950 2,200
sHHYAS 43 L B 8,150 5,950 2,200
201 Ysr2gy| 8,150 5,950 2,200
01 AF=Rzelt] 8,150 5,950 2,200
OL2ANYS £yl 11,0002 *400CH 4,400
OL4ANYS HIIYI 250, 00021+ 15 3,750
SHLE U 2= 192,900 22,400 170,500
= 52,000
Al 140,900
S Rie L 2Y 129,700 22,400 107,300
= 52,000
Al 77,700
SERN AL 25,700 22,400 3,300
201 sy 700 2,400 A1,700
01 AtRZelt] 700 0 700
OHESHW2SARS SAFH 22
70,0002 +5% *23] 700
401 AlZHILL O 15,000 20,000 A5,000




SN ST
HE: 2oL ¥ 2E
ool 25 RN L 2Y (5l &2
SA - M. SR(F) - MPAY - BAS O AF o8 gggi; Hnz2
01 AlZH] 15,000 20,000 25,000
OBERE 22 2 Jl (1144)
15,000, 0002 15,000
402 RIZEXHEOIH 10,000 0 10,000
01 PESx 10,000 0 10,000
ONRARZANY MY DX
10,000, 0002 10,000
SHHBH (UL LS & &) 104,000 0 104,000
= 52,000
Al 52,000
402 QIR+ OIF 104,000 0 104,000
= 52,000
Al 52,000
01 PAREDE 104,000 0 104,000
OXHEY ABHAIL &XIAY 104,000,002 104,000
= 52,000
Al 52,000
Ssne ¥2 ¢ = 50,000 0 50,000
SSHANEF 50,000 0 50,000
402 QIR+ OIF 50,000 0 50,000
01 PRARESBE 50,000 0 50,000
OSSHAIA HFE 22F 14 50,000,008 50,000
S5 Hses X 13,200 0 13,200
SEyNLE BESS XS 13,200 0 13,200
307 BI2t0IH 13,200 0 13,200
2 SIANTABE 13,200 0 13,200
ONXE RS MSAY 13,200,008 13,200
BBMY TE 386,805 229,902 56,903
| 25,000
= 7,500
Al 354,305
LR 2BX 29 229,805 163,902 65,903
ARMBBI S 215,805 130,202 85,603
101 Q12| 8,885 8,672 213
B EENEEE 8,885 8,672 213
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SN 28 HS D
HE: BB XE
o9 AFER Y2ET (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o bRz
401 AlZHIL2 O] Al 17,500
01 Al 50,000 4,000 46,000
ORZAYEX T & 50,000, 0002 50,000
p] 25,000
= 7,500
Al 17,500
HMSAY 54 1,135,088 2,307,320 A1,172,282
| 82,268
= 133, 160
Al 919,660
HMSAE T4 40,000 60,000 20,000
MSAE ZH) 40,000 60,000 20,000
401 AlEHIL 2O 40,000 60,000 20,000
01 Al&H] 40,000 60,000 20,000
OHSAES 832 24 40,000,0002 40,000
MSHe X 435,000 279,600 155,400
= 18,000
Al 417,000
MSHs SHAL 308,000 164,000 144,000
202 oft 1,000 1,000 0
01 =00l 1,000 1,000 0
OHSBM % HF HSAL st
1,000,0002 1,000
307 2120l 307,000 161,000 146,000
02 ABNBE 121,000 122,000 21,000
08205 FH 5703 B2
5,000,000% 5,000
O3 SHHF EHBE (HS3)
2,000,0002! 2,000
ORI205| I CHEHMSHERNSH (M H|
S8o/3) 69,000,002 69,000
OFICUHNBMBHSSSLSH (YT
s8ol3l) 30,000,0002 30,000
OFIIE HOHY MSUE SHSF(MET
S8 ol3l) 10,000, 00024 10,000
OFHY 22 ASHE L M20HE =
HEX(MEHSES) 5,000,0002! 5,000
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FAM: 2HSH

M MY S4
S ETERE (crol: m 2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
04 BIZtHALE X 186,000 39,000 147,000
08.15 Z2=718 s32U3 HAE2=(HS3
) 5,000,000& 5,000
OAlRISHE M=EUS S X2 (8HS)
112,000, 000& 112,000
OAlelater MSCHal Ak 35,000, 000& 35,000
OHM6zl AIEHH eleteltial (M=3l)
2,000,000& 2,000
OAIED| MEHSUE HEBE(MEHS
&olgl) 30,000,000 30,000
OM133 AlZHH SHLAHS (MI3)
2,000,000& 2,000
SXAD H=sls 888X 72,000 80,000 28,000
& 18,000
Al 54,000
307 QIZt0IA 72,000 80,000 28,000
& 18,000
Al 54,000
02 BIZHEANEZX 72,000 80,000 A8,000
OEXIAl MBS 72,000,000& 72,000
< 18,000
Al 54,000
ANEH M= THEAUE JHE X 55,000 35,600 19,400
307 2IZ2t0olM 55,000 35,600 19,400
04 CIZtHALE X 55,000 35,600 19,400
OANZEHEISAARE A A
55,000, 000& 55,000
NEARsFIR 2F 300,000 300,000 0
& 70,000
Al 230,000
ANZHE 2s3II87 29 300,000 300,000 0
= 70,000
Al 230,000
301 YBtEa= 300,000 300,000 0
& 70,000
Al 230,000
1 st - 2SRSELS 300,000 300,000 0




M Z3M=H
g3 A

%&u =S
Cel NYSEFPI|R 2 (EHo &8
_ _ Huc
SA B G(E) - NEAY - B Ofl & 04 0l At o Blnsz
ONZHFESE FIIT 29 (YAR)
300,000,000& 300,000
= 70,000
Al 230,000
dEN=gldasd € HdEM=XHA 360,088 365,720 A5,632
Il 82,268
= 45,160
Al 232,660
MESE2S 23 75,900 87,700 A 11,800
201 LEH23H] 5,900 7,700 A 1,800
01 AtR2teld 3,400 6,200 22,800
OM=stEsgoz&adsg 1,400,000& 1,400
OMsSEASESHEL 2] 2,000,000& 2,000
23234l 2,500 1,500 1,000
OFE2=Pyi=EINI:] 2,500, 000& 2,500
307 QI2t0IA 70,000 80,000 210,000
02 QltF&E=X 70,000 80,000 210,000
OAl.2 deX=sgcs sdX&
40,000,000 40,000
O2+ds 4N (Ws3) 30,000,000 30,000
MEHSWY 482 15,132 16,812 1,680
| 4,540
& 5,296
Al 5,296
307 QIZt0IA 15,132 16,812 21,680
| 4,540
L= 5,296
Al 5,296
04 CIZtHALE X 15,132 16,812 A 1,680
OdEHsLY 4&82Y 15,132,000 15,132
| 4,540
< 5,296
Al 5,296
MEHE I8 23 17,568 19,516 N 1,948
Il 8,784




FAM: 2HSH
M HsNE |4
ool MERSHOSSH U MEHSK (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
MEjs T2 B9 S 4,392
Al 4,392
307 QI2toIA 17,568 19,516 A 1,948
Il 8,784
= 4,392
Al 4,392
04 QIZHHAIE X 17,568 19,516 21,948
OMEHE T2 17,568,000} 17,568
Il 8,784
= 4,392
Al 4,392
NEce M= X 92,340 90,780 1,560
Il 46,170
& 23,085
Al 23,085
307 glz2told 92,340 90,780 1,560
p) 46,170
= 23,085
Al 23,085
04 BCIZtHALE X 92,340 90,780 1,560
OXNace = XA BHX
92,340,000& 92,340
J| 46,170
= 23,085
Al 23,085
Hzadg XNSA X 36,936 36,312 624
Il 18,468
& 9,234
Al 9,234
307 QIZt0IA 36,936 36,312 624
Il 18,468
= 9,234
Al 9,234
04 BIZtHALE X 36,936 36,312 624
Oo2aldy MEH= XX BiX
36,936,000 36,936




FAM: 2HSH
M HsNE |4
Ciol: MENSEOIESH U MEXSAL (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
J| 18,468
= 9,234
Al 9,234
MEE NESXH2S3 9,600 9,600 0
301 Lptsazg 9,600 9,600 0
12 JIEIEAZ 9,600 9,600 0
OlHZE! ZAt=E 400,000& x1H+12& 4,800
=M= XXt 400,000 x 1+ 123 4,800
ZIEME 82X 104,000 105,000 A 1,000
& 1,000
Al 103,000
307 QI2t0IA 104,000 105,000 A 1,000
= 1,000
Al 103,000
04 BCIZtHALE X 104,000 105,000 21,000
OHMl4zl dIIE HEddad=sie g8
X 4,000,000& 4,000
< 1,000
Al 3,000
OHM558 ZICHAE EXHE2X (MK3)
100,000, 000& 100,000
HMSHSH™ AEAS 8,612 0 8,612
| 4,306
L= 2,153
Al 2,153
301 YEtEa= 8,612 0 8,612
| 4,306
= 2,153
Al 2,153
12 JIEt2 &3 8,612 0 8,612
OMSHISX AlEAMS 8,612,000& 8,612
| 4,306
= 2,158
Al 2,153
HH2AZHI(2E M S D) 48,060 50,220 22,160
IARAHI(2E M S D) 4,200 4,200 0




A 2=
H: HHS AU (2HSD)
ol Q12| (25 H S ) (£l & @)
- _ _ ME
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
SENeIA (2 H S 1) 4,200 4,200 0
203 HR=&H 4,200 4,200 0
04 RAEEERFAM 4,200 4,200 0
ORAN2EYRFEHI(302/015)
350,000& 12 4,200
=22 (23 43,860 46,020 N2,160
Jl2Zddl(2ads) 43,860 46,020 N2,160
201 2et=g| 15,300 19,500 A4,200
01 Ar2teltl 15,300 19,500 A4,200
ORN2Z AtR2eIHI(17E) 15,300,000 15,300
202 Oddl 28,560 26,520 2,040
01 2UWnbl 28,560 26,520 2,040
OJ2g8 +=~30HlI(178) 28,560,000 28,560
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